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I Choose the option that is most nearly similar in meaning to the word: Candid
(A) anxious (B) sallow
(C) outspoken (D) experienced

2 The clectrical state of the control leads in a scrial interface is a concern of the

(A) link layer protocol (B) network layer protocol
(C) nonc of these (1) physical layer protocol

3 Nl davel wey et Rusedyidll QoY -y 3w 0.

(A) SR (B) s
(C) wvy (D) oy

4 Identify the correct spelling out of the given options
(A) Manageable (B) Managacble
() Managible (D) Managable

5  Choosc the grammatically INCORRECT sentence:

(A) They belonged to Africa

(B) She is an European.

(C) They migrated from India to Australia.

(D) He is of Asian Origin.
A coffee table book titled *..................... * was released on the cve of the 161
Pravasi Bharatiya Divas in January 2021.
(A) The Commonwealth of Cricket : A Lifelong Love Affair with the Most Subtle
and Sophisticated Game known to Humankind
(B) Manohar Parrikar — OfT the Record

(C) Modi India Calling — 2021
(D) India 2030 : The Rise of a Rajasic Nation

7  Inline CSS applics a unique stylc over .......
(A) Multiple Element (B) “fhole Document
(C) Half Document (D) Single Element

8 e is the smallest continent of world.

(A) Antarctica (B) Australia
(C) South Amecrica (D) Asia
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9 ‘GMU 2okl 20 Riseqinidl oy HAYL a0 204,

(A) UMl (B) a2
(C) ¥wn ) A
10  Attribute minimization in XHTML is .......... .
(A) Forbidden -B) Convertible
(C) Nonc of these (D) Allowed
11 Which of these places is associated with ‘Mahatma Buddha™?
(A) Kapilvastu (B) Rajghat
(C) Porbandar ~(D) Macedonia

12 A ladder 2.0 m long is placed in a street so as to reach a window 1.6 m high
and on turning the ladder to the other side of a street, it recaches a point 1.2 m
high. The width of the street is .....

(A) 24 m (B) 20 m
(C) IL.6m (D) 28 m

13 The output of a NOR gate is high if ........

(A) all of its inputs arc low (B) one of its inputs is low

(C) one of its inputs is high (D) all of its inputs arc high
14 ... was known as Martin Luther of India.

(A) Dayanand Saraswati (B) Lala Lajpat Rai

(C) Subhash Chandra Bose (D) Swami Vivekananda

1S In JavaScript, the method toString() returns .........
(A) Alphanumeric pattern as a string  (B) Number as a string
(&)~ Exponential as a string (D) String as a number

16 Which of the following is required 1o communicate between two computers?

(A) l’rolocf)l (B) Communication Hardware
(©) All of thesc (D) Communication Software

17 woell 2la Rusel i)l oy el aoe D)

(A) sell (B) azid
(C) & (D) Yaw
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For a magnetic disk w lth concentric circular tracks, the seek latency is not lincarly
proportional to the séek distance doe to ... ..

(A) am starting and stopping inertia
(B) higher capacity of tracks on the periphery of the platter

(C) use of unfair arm scheduling policies
(D) non-uniform distnbution of requests

The HTML tag <pre> is used to define a block of
(A) Preferred form text (B) Pre-linked text
(C) Prepared text (P) Preformatted text

has the highest melting point of approximately 3410 °C.
(B) Lithium

(D) Iron

(A) Tungsicn
(C) Osmium

......... is a densc region of space which has the ability to swallow up everything.

cven light.
{A) Corona
(C) Black hole

(B) Cromosphere
(D) Supemova

Four branches of a company arc located at M, N, O and P.

M is North of N at a distance of 4km. [ o
I’ i1s South of O at a distance of 3km W ¢ ¢

N is South East of O by Skm. g\" .

What is the approximate distance between M and P in km’ %‘h
(A) 6.74 (B) 4.46 ‘A(T

(C) 7.55 (D) 5.65

Find the error in the following senfence ©
Every man, woman and child in the house on fire have been saved.
(B) in the house on fire

(A) and child
(C) have been saved LD) Every man, woman

What does PEAR in PHP stand for?

(A) PHP Extension and Appending Repository
«B) PHP Extension and Application Repository
(C) PHP Encapsulating and Abstraction Repository

(D) PHP Existing Application Repository

In which of the following options will the cxprcsﬁun P<M be definitely true?
(A) M-SPF (B) Q<M<FP
(C) P=A<R-M (D) M=R>P>S
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26 The city ..o meets in January.
{A) counscl @) council
(C) concert (D) consul
27  Former Union Minister and senior Rajasthan Congress Leader coveceerennccanes passed
away ot the age of 86 in January 2021.
{A) Moulal Vora (B) Oscar Fernandes
(C) Tajdar Babar (D) Buta Singh
FITTLIER \ . ) 5
28 The binary number 10161101 s equal to which hexadecimal number”
(A) 9A i () AD
(C) DA G (D) A9

.
]

29  Which of the following C statements is syntactically correct? §
(A) for(i){.(x) (B) fori)f.....} f{‘.""
o) for(a) ... #) forOf...; ., .

30  Which of the following starts with _ (double underscore) in PHP?
(A) User-defined constants (B) Magic constants

(C) Detault constants () Inbuilt constants

31 In the following pairs of OS] protocol layer/sub-layer and its functionality, the
mneorrect pamr 18 ...,

(A) Data Link Laver and bit svnchronization

(B) Transport Layer and end-to-end communication

4C) Medium Access Control sub-layer and channel sharing
(D) Network Layer and Routing

32 An Intemet Service Provider(ISP) has the following chunk of CIDR-based 1P
addresses available with it: 245.248.128.0720. The ISP wants 1o give half of this
chunk of addresses to Organization A, and a quarter to Organization 13, while
retaining the remaming with itself. Which of the following is a valid allocation
of addresses to A and B?

JA) 24524R128.0721 and 245.248.128 0122
(B) 245248.132.0722 and 245.24%.132.0121
(C) 245248.136.0722 and 245.24%.132.021\
(D) 245248.136.0/21 and 245248128.0122
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33 Which of the following cols )
e owing protocols is NOT used to resolve one torm of sddriess
A DHePp (B} ARP
(C) RARP (D) DNS

Touser processes each requiring 2 units of resource

34 An operting svstem contains
adlocks will ever arise

R. The minimum number of units of R such that no de

Raee

(A) 4 () s
35 The avernge weight of 3 men A, B, C is 84 kg Another man D joins the Leoup
and the il‘t‘r-!zzt‘.ﬂ_u“ becomes 80 kg If another man E whose weight s 3 kg
more lllflrl that of D lC!)l.IL‘L’\ A then the average weight of B, C, 1) and I becomes
79 kp. The weight of A 5. ...
]
(A) 72 kg (B) 75 kg ‘ t“ n_"‘
(C) 80 kg (D) 70 kg "
: 3 Y
> o o = : (_1 \/;
36 In terms of Computer Networks, Contention means ... e
{A) a continuous frequency capable of being modulated or impressed with a
sccond signal.
(B) the condition when two or more stations attempt to use the same channel
at the same time.
{€) a collection of interconnected functional units that provides a data commu-
nicalion service among stations attached to the network,
(D) one or more conductors that serve as a common connection for a related
group of devices,
37 QO uvasess a few miles from modern Faizabad, ncar Lucknow, was the Capital of

the Kosala and the Solar King of ancient India,
(B) Mitthila

(A) Ayodhya
5)5) Amravati

(C) Daulatabad

38 Variable name in PHP starts with ...
(B) &

(8) $
(D) !

(C) # f
[ Contd...
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39 What will be the output of the following C Program?
#include <stdioh=
it main()

{
int i = 0
i{i=0)
printf{i is zecro).
clse
print{(i is not zcro);
!
{A) 118 not zero (B) compilation error
(C) no output (D) i is zero

40 Which number does not belong in the series?
2.5,10,17,26,37.50,64

(A) 37 () 64
(C) 26 (D) 17
| R— in Karnataka is famous for s claborately sculptured Cheena Kesava
lemple ‘of the Hoysala period
(A) Kannauj (B) Belur
(3 Madurai (D) Bhubancswar

42 Hexadecimal numbers are a mixture of .........,
(A) letters and decimal digits (B) binary and octal numbers
(€) octal and decimal numbers (D) binary and decimal numbers

; T . : .o ceet )
43 What docs the following JavaScript segment display 7 . "¢8 adabill

'iCﬂpl » L S\\SA‘V.'A
var text = "Systern” Officer!" o
alert(text.substr(-5.5));
“lsenpt>
(A) Oflic (B) icer!
(C) flicer! (D) Syste
44 It is time that India and Pakistan buried the ... ., and became friends again.
(A) guns (B) hatchet
(C) snowman (D) dead
45 ey el My - WALz wimwdl.
(A) @regla (33 Guw
(C) 3us (D) My
935021 031 7 te .
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6 ... |~. the largest ocean of the World.
(A‘) Indian Ocean (B) Pacific Ocean
(C) South Indian Ocean (D) Atluntic Ocean
47 [RRRter aeeenes became the first World Test Champion by winning the 1CC World
Test Championship 2021, ' !
(A‘) Australin (B) Lngland
(C) New Zcaland (D) India
48 ‘Which_ of the following protocol is used for remote terminal connection? |
(A) FIP (3) RARP '
(C) ubDrP (D) TELNET
49 In JavaScript. if text is not found. methods lastindexOfi) und indexOIf{) returns
(A) Error! 43 -
(C) Null (D) 0
S0 If 30% of a number is 12.6, then the number is ...
(A) 51 (B) 52
(€) 42 (1) 41
SO YA M D ... D
(A) =t (B) o3t
(C) &g (D) A1l
§2 The study of universe is called ....osome
_(A) Astronomy (B) History
(D) Cosmology

(C) None of these

53 Choose the option that is opposite in meaning to the word: Eccentric
(A) wacky (3) aberrant
(C) typical (D) bizarre
The radius of outer circle is b while
¢ the inner circle and inside the
adjacent to cach other
al

Two concentric circle are drawn in a ficld.
the radius of inner circle is a. The spuce outsid

is called annular space. n number of circles,
ace such that the diameter of these circles is cqu

area in the annular space that

54

outer circle
arc painted in this annular sp
to b-a. Which of the following options depicts the

would remain unpainted? ., 4
(A) 17 [(b>-a%)-n(b-a)’] (B) nl(b:-a;)*n/‘!(b-a):l
(©) i l(b*a?)tn(b-a)’] (D) 17 [(b*-a®)y-nd(b-2)7]
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h
h

i ! [ . i ame., { Sapacity).

Consider the following relation Hostel(id, name. address, capacl ) .
Which of the following options will be needed at the end-of the SQL query:
SELECT Plname. Pladdress

FROM Hostel Pl . o .

Such that it always finds the names and addresses of theaters with maximum
apacity”? . N
?/:\[;u\\."lll:l{li P1.copacity. =~ ANY (SELECT P2.capacity FROM Hostel !Z;n)
(B) WHERI P1.capacity CALL (SELECT max(P2.capacity) FROM Hostel p:
(C) WIHERE Pl.capacity ~ANY (5l 1LECT nm.\(PZ.cup.ucn_\'_) FROM llnslcl) 2)
(D) WHERE Pl.capacity ~= ALL (SELECT P2.capacity FROM Hostel P2)

S6  What is the output of the following C Program?
#include <stdioh>
it main()

float
=10/3:
primf(1 %l )

3333 (B)

1 33 13
(C) 1334 (D) 1 3.

an000o0

57 What is displayed in the web page when the following hunl segment is uscd?
<ol type="1">
<li=Coflee</li»
<lizTea~/li>

<li=Milk</li>

</ol>
(A) 1. Coffec (B) 1. Coftee
Il. Tea i, Tea
1. Milk ii. Milk
(C) o Coffee (D) 1. Coflee
o lea 2. Tea
o Milk 3. Milk
58 Dispur is the capital of ..........
(A) Chhattisgarh (B) Assam
(C) Jharkhand (D) Arunachal Pradesh

59 What is the default value of max_exceution_time directive in php.ini? This directive

specifies the number of seconds a seript can execute before being terminated.

_(A) 20 (B) 30
(C) 40 (D) 10
935021 03 ] 9
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—vereie. lins been named as the fimst-ever “Kid of the Year® by the sconic TIMI®

magazine in December 2020
tA) Angad Frarvani
(U Penvanshi Soman

(B) Ak Teswal
W3y Giranjali Rao

&8l An HTML clement thal is used 1o group the foater contemt in u table is..
{A) <tfooter> (B <abndy=
(C) ~toroup=- {I7) <1fivor=

Who is the current Iiewtenant Governor of the Unioa lermitory of Ladakh
(B} Prafull Paicl

) Radhy Krnishnn Mathar
(T Mane; Sinha

(Cy DK Jfoshi
63 Which layver of the O8] model is responsible for creating and recognizing frme
boundarices”
L) Dhats Link Taver (B) Transpor Layer
(Ch Nenwork Lover (I3) Physieal Layver

64 Buole of Haldighst was fousht between ...
(A) Ashoha & King of Kalings (B) Ranny Pralap & Akhar

Ahmed Shah Abdall & Marathss (D) Alexander & Porus

i)
65 Hy defauit anyv real number in C 18 trested 88 ..
(A) n diuble
{B) o long double
() Depends upon memory model that you are using
(D) a flox
& uﬁ"l
66 When a decimal number 12 is comeried 1o a hinary number, the number of binar
digits needed 15 ...
~4A) 4 iB) 3
{(C) 6 () 3
67 The angle between the two hands of a clock is 100 degrees when the hour hand
is between 4 and 5. What time does the clock show? (Tl
{A) 4 hrs 40 mins. (H) 4 hrs 45 mins. % \ g,}
- i) 4 hrs 30 mins, i

#) Nome of these

An attribute of one table marching the primary key of another table & called ...
{A) Priman Key [B,vj‘ Linmigque Key

(C) Composite Key {H) Foreign Key

68
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69 Whxt is the ouput of the following PHP code

< Tphp
echo "HELLO WORLDE,
delinel"GREETING™, "GOO MORNING!™, ek
echo greciing:

(A) HFLLO WORLD!

(B} HELLO WORLIMGREETING

) ERROR

{13 HELLO WORLD!IGOOD MORNIMNG!

=0 In Juvi. which of the following options is false about the final heyword?
(A A final class cannet be extended
(R} A final class cannot extend ather classes

(Cr A finel method can be mbwerited
A final m=thnd cannol be overridden in its subclass

(13}

71 Raejiv Gandsi Intermational Adrport isdn .o
(&) Dl {B)  Jaipur
1C) - Hyderabad (D) Mumhbai

>

Whnt crrorwarning will the following C Program pve?
Hinclude “=tdio b
Bl maun )

L]
flint n int b))
int p, s
8= 20;
relorm A
'
prnt{{ %t f{2.44);
L]
¥

(A) error 'a" redeclored &5 differemt kind of symbal
(B} Program executes without emorwaming

(C) None of these

41 waming: mmplicit declaration of funclion *f°

73 Which u:dn.quc vy preferable for tmmsferring a large amount of data W and from
& memiy in o short time? _ o

(Ar lmerup-dnven 10 (B) Programmed 10
() None of these -1y nMA
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wiow 15 the stupdy of heredity and venations.
() Lenlooy

(AY Biolomy
[ Hedon

Ty Gonetics

wary ol meal wiln Taosmdui dion ROy mee )
{1y o= =iz

(A) waey wle
(1) w=w wig

() a=nm siz

In am Enuty Relationship Disgram, ellipses ropresent 0.
t4) relation amaong entity st

By =trikaics
(3 ImE between asfirbules nnd entily sct

() crtity s
e eaem] W] WG B
() =g
(A IETLT

T M2 oS [Ewe
(A) Gaye
{(C) ~um

7B Which backup procedure & the et time conspming”
(A} Weeklv Full Backup and Dailv Incremental Beckup
(R} Daily Full backup and Weekhy Differcntial Backup
T(C) Weckly Full Backup and Daily Differcatial Backup
(12 Daily Full Backup ad Weekly Incremental Backup

79 Which of the following for lpop declaration s not valid in Java?
=7 ie=aYni+=7)

(A) for ( mit 1 =
iRy for ( o0 1 -

(C) for { m i = 2,

D) for{ mt i =99, ~=11/9%9)

M NS 2 —i)
2 j==20:4=2%1)

B0 ‘aean)’ svedl wife Beaiyid dioy ased nee Y.
iA) [y (B) =4
(D) Hax

(C) =aats
13 [ Contd...
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f1  Round Kohin scheduling is esentinlly e presmplive version -, S
iA) Shonest Job First (M) Shorest Remaoiwitrg Tone §ast
(L) Longest Time First (0 Viesi In First 00l

83 He timed 2 deal car toomy regquest. What does e underlined phrsal verb meat?

{A) Jm!l'ttiﬂ[cﬂ B8} t}nwlﬁﬂ
(¢ returned (D) ipnorcd
83 The 32 bil infernet address | (0DGO00 GUODIOLO D000001D 00011110 will be writien
in doted decimal POSEtION @8 . - eni ) . S
(A - 128 R 230 {B) 12800232 ‘.g:
{CF 122,010,228 A 13R10.2.30 v

g4 Choose the stiement where andatined word s uscd comrectly
(A} He casured thol the company will not have 1o bt any loss
(D) The actor god himsed! cnsurcd against any noackent,
AC) The teacher insured stadents of good results
(D1 The minister insurcd the victims thnt cversthing would be all right.

B5 Consider o main memony with five page frames and the followmg sequence of
page references: 3239 016388363713 How many page [sults wll oceur

= s B | . . R i

if Lenst Recemly Used page veplacoment policy is i plsce?

(A} # () ©
(C} 10 1oy 7
8 ... isone of the most beautifl and well-planned places in Indin which
wat desipned v o French Architeot Le Corbusicer
AA} Tripura (1) Crandhinggar
(C) Shimla T Chandigadh

¥7  When nn interrupt occurs, an operling sysiem ...
(A) always chunges state of mitcrmupted process afier processing the imermumi
(B)  alwass resumes cxetation of imtermupied process aficr proccssing the imterrum
{Cy mm chenge stafe of intermupied process (o blocked ond schedule another
PTUCESS
(D) gneres the intermgpt

BE Half o bvie = called 8 ........

(A) bt (B word
_d€) it (D) nibhle
9ISO21 03 ] 13 FContd
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ﬁtlttl e mjf that it EAPNCES @ Fclq“m\hq\ wimmilar T that ﬂm‘l in the

Medicine - Hleakth
n'i. I Wiabth I‘mcc. JB) Fdecshon - Kmvsledpe
) Money © Happines i Schemce ; Fxperiment

Wiich o the Following s wsed fir concatenation in PHPY
1) & amperaasd)

(A} *asterisk b
(0 r{plus)

Y fdodg)

What ‘& the mupw of the follawing Jove cole?”
puehilic class M lass |
Testl np e Testli 10
M CRassimi o) f 80 — mew Feseiid); §
public static void mainiSinef ) aresif
MyClass 12 = pew MIyClassi3);

!
!
clasa Testlf
Festlimi w)y
System ot primting "Constrictor called = + x)¢
)
)
(A) Constructor called 5 Comstructor called §0
(B} Constructor called 15 Comstroctor called 10
(L) Constructor called |0
(10 Constructor called 100 Construcion called 5
In Regolar Fxpression patiern maiching. the metschamcter s finds a ...
(A)  White-Space Chamcrer jly Sam of o word
(G Umeode Special Character (L3 Ihigat

The typeol operator of JavaScript always refums a‘an
' (i} String

(A) Function ) Stri
("} Murbcr 00 hbpect
sulie aecaag i s use wd - el des
(A) gl () Y
€y 33w (D) g

14 [ Conud...
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% Which narmal form s comsbderol sdéduinte for pormal relaticaia] (database desipn’
() 3 NE (E5n 4 M
(35 Nl oy 2 N

8 Who is the presentoumom Indian Alr Chiel Marchall?
(A Adr Chicl Mlarial) BES hadauna
AR Adr Chiel Marball Vivel Bam Chasdbian
0y Adr Chief Marshall Birender Singh  Homas
() Aar-Chicl Marshall Sonil | anba

97  (wve synooyin of | Hindsighd
(AL dewestion Ay lemiemd
() commanumiicathon (M) retmaspect

88 Whm & the vutpast of the following Java Code?
public class lelfoWosld |
public satic void mum{Smng (Jargsi
Integer & —- 128 b = (3K,
Svatem out. primting a — by,
Integer ¢ = DOy, 0 — DO,
System o priptlndc = dj;

]
i
{A) wrue false (I3 tmec tnue
(Cy Halse false iy fakse truc

99w owiay - e g 7

(A 2efl aegsl = atadl (B Gag
(C) g™ ag (D) w=hnsy sl wigal

100 A man travels from A to B o buy goods which be can get 10% cheaper in I
than A I e expenscs of the joumsy are Rs |5 ond he makes o clesr saving
of Rs. U0, whoi docs he pay for the pends?

.
(A) Rs 215 iy Rs 200 p—" ;Zﬁ!&‘
(€} Re 235 M) Rs 230 *"f?"f;.--_;.g
935021 23 | 13 | Comd...
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